S 2.5 Linear @me\M¢M

La}v g( Yo o Cl'=§«£&re<\¥°“\°\ea i;\mtxrmf\ oA' &?oml( oo, QoﬂS\é@I kr\f\Q,

-\'O-!\a_uﬂ'\ \\T\Q/ 4’0 *\'\Q 3;11,(;\'\ 0\3 Sr\' O\Ar O~ . \\)Q/ m\r@,o\k\{ (;nu-{\é \'\NQ,
Qzum&rio\[\ S(\r\u.&f ée,g\\/\Q,S \f\'\\& \“(\Q B \/ - S‘L&\ 4 QI(&\QX'-CL\,

‘3 XS‘ULD\\\K\/\JO\\)
kﬁig\%\ The \'c»namlv \W\Q, k\ﬁe\ﬁ can be CoV\S\‘c!ere&,
S
\'B'S( *\ - as the gx\wf\r\ of e Cunction
3(13: £l Y e (x=a
1 ty Thrs Swockon has ‘Yhe ‘;onowtn
; S :
?Q_F 1eg
. 8 s \ineor
NQ\—Q-\'\(\A*E . %(0\\ - s‘(oﬁ
) - é’ 7 J
T = 5 (Flo s #10 (mad) o) = Gl
- 2 .
= ng}[c»\ R i[i\ gd;\(x—m\ Horemfg-, Y} s the A Nigue, ]MQN—
-S: © constant 1 &Melﬁw\ \AIW\ %(m\tg—{a\) o—ﬂ& 8’[@\:.{5’](&3_
= £

Now %L‘l\ = fle),  hax whal obeudt abﬁ\ for valwes of % Yhal ore close’ Yo .2

Fow the micdure a\OD\/Q, we seo gtk 6(7(\ 1§ Ndlese” Yo SLYD b ¢ s close Yoo T

That s, 6(x\) NI 60&5 QQEM)QMUA-‘!OI\

for Mo valae of CU:

S ¢ los e:’

B 1 % ﬁa[xﬁ = $x)
o S
\ &\E«Q?bﬁ(\f\q\e\\/ Q;ua\ o

%o,g‘\ﬂ'l‘\‘lof\ T ¢ £ s dig-ve,i‘e,nxia\b\e, o o Hr\e/
o $ ot o S fhe gu'nd’m L'XcL J’QQ’V\@/A \OY

Li (x) = g.-lo.\ ¥ 1;1[&\()(,-'0,3

S‘or CX\\ X &]R

Nolcq,} IQ K AS cbie do a we Con Wi be X=Q+% Qor Soyia,

seaal & Welta). Then  x-a =S gnd  we con wale

L lass) = Fld + Vs

T\'\q\» 33, ’\’\Ae, value of% r\'\\-o_/ \\\\Y\QM Q")?m)c,maiﬂ@[\ éQeQﬁéS M\\/ o N vp,\&
A.‘:S?\QCQN\Q(‘\'\' 8 Ck\')O—\/ S—rz)(‘ﬂ }—\;\Q( @‘5’\{\‘\ O- Q(,;, \;f\QD:"\ %Q,“LO\{\,



V/————\

Asplicatmoly

Lt{\ew awmmmq\ﬂ‘em ae uLSe‘;u\ far C\me‘rw\cﬂm% \/a\megl

E%c»m;‘e\&
Use  linear appontalons Yo eshmale Yo value  of V39 .
solabiory © Nole Phad 3.98 18 los” Yo Y 54 wo shodd erpect J3ap 4o bo, “¢ lose
Yo Jy =12,
Lot FOY =T% and  a=y. Nele dhat 248= Y-0.07 2 a4 §
e Si-0.00 Abazy FBO= T end §00= o iy i

Se N lnear q??mx:NzA«Dh o> a=zy 4
RACERIC IR CHET)
1 + TH’U-H\

_ N
.._1_4_”'

Now we %ymu\Mm\@, E
Vaag = $(2a8) = L‘; (4-0.02)

= Sy + fly (oo2)

- 2 . 0,0z
L{
= 2 - &°@ = 2o ooS
EEPRRLES
TLQ\\-\»rue/ \ra\\A.Q,r, S Jr98 = l.alc('-{axﬂ\ 34 .. , Se we're  not S;qu 6&;}
The ermpr (N our eshimale 16

\S;Ls.%\ - L“(H(is.qaul = \L"ﬂwrsl., - L‘HS‘l = 0.00000 b3

ﬁ??m\gmxg -S\‘\Na, \ra\LLQ OQ’
Seluken -

(0.99)'° .

Hee  wwe.  wnole thal ©.994

15 elose o 4
close o 1'° = 1.

We use Yhe (;uﬂc“/\’oﬁ g(){\ = X\o
\We »\MQ g-(l\ = {
[

S (099)° shald bk
ond  set a=zq

an d Q'(\(\ Z 10%x So "nf\dc\ ‘g'/(i\“@lon Tkg

e appmamalon of € ol axq 'S
Li\x\ =1 Lok

Pd x= 099 = 1_—7%)0/ we WNavo

a0 = (L-&)" = $(1-L)



o N 4
So QO Ay T o9 True onswer 5 (099 = ©, 90 4382075
on & '\’\I\u,S e e rtoi

\n owr eshinale g

‘&(o.qq\ - Li(o,qcﬂl = ‘O‘ClOLHB._‘ ~ O.q[

- 0.00Y38...

Ncﬁ‘l Hhat 3'\‘“& C«Wromml*ow ore oﬂ\\/ ae.w& v klal [ %Mu\lﬂ,

E;r Qwa\Q; ;T» we use  the Vreor Qﬂmﬁﬂﬂq%@\ for Fhe S&mo\rt o
Yonckion  al o=y Y eshnate Yo elwe o J?/ e 4 6@']
3=40q = [ms = MM 5) 22 1} (uss)

= $(a) + §74) 8

= 2 455

= 3.25
Net oo a/—eo\jt %Trro%rw‘a)rm for 3.

How Con Wl Q—o,—;vm\ize \/Low \BBOék oyl a{‘)fmw\ﬂamlﬁa{\ (s )

\\)A\an \"\/[Uuu\‘/\((f (VW Q\T@Q]‘ \OOMé oN +L& e ~or
W \/LQ.Q/A G Wory

Hao wﬁw,\mdvoﬂ > el egsl
ae)ro.n wpp® bound on te errr
P

Thee ot o Tew &r\\?«as Pob allocd \ou \‘awé” o c»f?w,wm%on %,

/ T‘\\e Vor Yo % %Q% oy Crom X,
\OO, txbc\,\\’ \\

"]"'\Q lESS SWe we Can

Gy cdooé Yo CLVQFONV\OA/}B”\@,
/\M%Q ermoi

/ Syiall errol




MW “vaeb” -H\p, :qu\v\ b‘Q’ I» 1S 0\\’ o,

/ ,W@J\mf

\

A
—

/ a

£ 1=

\A)\\o&( ?mQQrX\; oY- Yo S‘Mc\w\ 3r&\\s (55 \f\cu.s “turve & \/\\Q
%hﬂ{h ' O‘\( 0“7 T\"Q Se&oﬁé d-@,]‘iVQLLVQ« ! g—“lu\ B

E‘:X_? Lineor Qcmdmn K
T_-& ?(ﬂ:mx -\-\\fj ’s'\"&(\ X'\:\e/ \\‘f\ew q??mﬁ(\/\asﬂu\ &3 \Smlf

[_g \vQ = My Ab So e N g Vo)(}Ma“\‘.O[\ A alw S ZRTy |
* ffl?

IEN~LE ) = o
() =m

;I/(x\ =0 4&— sectond dertvonive i ZED, g5 o c,o-l\\/a%u-es

Ey . Conside- Py = 2-x" o d %(%\: 21-2x*

T\r\cy\ S'J(X) = <2y onmd a/&) = ‘L/X
-‘-_”(X\ :~2 8)I(X\ - __,,_’ )

HLL%T\ISKJ\&Q. o& secand A@l\m&m P \Sl(\ﬁ\
6 o] =y

/_:
\Hor@/ i;:\’m\b \ Swﬂw swall errol / Ha oo He seme Linear QWWY)MQLQA

oot et R VN oo
v 2 \ NH o e,

So 6 IS Mdrg wrved ”

\Dul Yhe Voear
D‘T?*Oﬂ‘fﬂa‘)-«m ’s Wiuch

x M — ose for g than
) L \ Yor ¢
7:142%1




\‘\ouJ Con W LA,SQ,-\—\\fS Lo a@;\/ \boux\ég on kr\/\o, ermt?

’5/'\(\@0‘_8(\,\ (Error 0 Vrneos QT?Q»L(\MOALM\

Lot el and let T be on \((\'\-QFVCL\ co0 Faining o, Suum;cﬁg dhat £
&
s twice diffeentioble’eq T and leb M35 be o owmber such dhyl

Yx”(x)’ é M Por all wex |,
< hen ;
\\s;mﬂqm; ¢ e

LU E————
_——
et ecror Uugpz” boprd on orto™

g‘-‘or all XQI,

@hove > Fus dwie dflrmndoble b £ and ©7 o i on ol o3I

‘j:é%n_: T owe cam Sl wpper \bow\é o0 Yo Corvalwe Vo) Shen we
Can a@x\' u»e&l QYF@- \oou_ﬁés o0 '\'\AQ, Cr-tot OL ‘!\‘\/LQ, ]fﬂQor q??@/‘ﬂﬂa%

e woo’jr ?m\;@, Yhis (&M{\oﬂ% we |l use st o

we Wit U

deas lodem v the coursel) o d

do a0 QVOAY\I\) lo.

E/ﬁ QYYTOSC}(V\q}rQ s‘\wt V&\u.q ogr N‘L[fl. G—I\C\, wse. '\'\GQ, '\'\V\Q/DWM l&) Q’\* s
bound o0 the error, Qé i

Sb\u.\i o *

-

Congidor '\'\F\e 'mkrer‘vcx\ I = [LLLI_]_] &r\é le. + &=LI OJ\CJ ‘WK\:\/-;

The second A@,r\wakwe, S acwwulgé as

’ N Y T BN N7 X
g(X\‘ 2\)(‘ - S—(X\‘- L{X

S o4 RN

S S A >
/\JOX(Q -\‘\(\w\’ S‘V}/(X)l i - L{‘LF/Z = _LFIZ = K%\Iz
Secreastyg, e [ L7(4)] 3|10 S
S—oq‘ o\\\ XQ—I,

L
So M:'QQTz



With  fhis M > o, we howe

| 17001 &M Bor o\ xeT
The hiaear @QDPWXMMHBJ\ or ) =JT el a=y

EAN

Lybo = 2+ £ ()

= l+{j~,
Pt s T x L) = 24 24
T 240.025 = 2025
Frovn  +he T

Sl'\e,orem{ we kaowd  Hao errr 1S \foounc&o,é \o\/

VETRE 2025} £ {I—HJ ) |

PTRGEN

\

lsle

1l

M

6.00015625
T hus, the  +rue value of JTT

s i the rongie

1o2s- o £ 0L £ 2025 25

> | 2.02484 £ [q.1 %

==’ -—?-02513'(07

——

g@i@‘)\\caxﬂo‘ﬁ ok \/\r\O—M QY?WIW\OA’DDS

Su?ﬁ)o& \f&r‘laUeS X  ohd }/ o (-Q\CL&QA \DY y:RX\
LM’ sofle. gw\c‘\ﬁoﬁ S

e _j,‘? X .S-lch‘AS oy oo &mé Q‘\/\oq\dgs e \;J-“e, }Dx‘l[ Qf?'b%maxce\«/
hows tudn  doeg v c\»oﬁag?

-

MSTO& QLX\ Py Li(X\ = g(os + $/[y§ (XAQJB

;or‘ X ieorm &

ond Ay = €0 - Q(&\ Se Fhat

, cl
A\/ESMA;) Eyw&x AR
-

E)io—mf\e.

we Yoalke AX = X-co

Imugme, Jor oce n g\akrm@ o s?\r\eﬂm\ bq\oo(\ vwith o quMp
ﬂv\» oNe ?o\\(\'\‘l +he Faé'\ us Qg( e 5?\,\&\;(_0’ \Oo\\doﬁ

3% eya_c“\/ 1O0Om.
Afer one wmore pumPp, The  redivs \ACreases hy 3 e

(e, new



Fadius is ¢ 210.04im).

9. Ho\u ‘Mcu_\«\ does &‘\Ae/ \Jo\wm& OL oo boloo(\ C\"O\f\ﬁg (qﬁ’?o%}ﬂﬁal@,]yﬁ?

&Q-' \;O\U'me O"Oé i\aéius #Q\cx\re,é \b\/ \/: %77 r-3 ,

NV 9

de 7 Hire

dv >
A'\/ ~ A CA1Dm Ar
= HT;Q@M\L .01 m
= Y (too f;D\ n’ = Y
~ 19.lm’

;':> Volu e c\/w\des \0‘/ b o when  goadiud c\f\w\ggs L\/ Aewm

SS 26 Newtens Method

Doe. method o Srd roole 63 o Suopcdon ! Rwsechon pHelasd .

USQS \'\(\PJ &c& Jf\’\CLXr O~ Sumc-\:c(\ D cbf\l‘\r\utouj *\D Ao_xQﬁ\m(\e chﬁ
\DCOCX(\O{\ LLS\(\a Talervedia e Value TV heerem

gr\ol(\/\nf‘ wcL?/ S 3\\@\,\)%1\’5 Tlethed \/\_)\m‘(.\(\ usesy ;.\,\& &Qj\'lVCL,‘\%\/Q

oond (/6‘\‘/@/“61@& "MULQ\f\ S‘QL@J\ (T\'\Q gwﬂq‘liof\ mus+ be As%reni:ablg.\

j:c}eod To hnd  x se M\d# FQ('X\ =0 NQ\A)“\‘O(‘ /5 T*QV&LMQ @\I_QCQ.AULT@/

‘SArw"‘f w)Br\l\ ’\\ﬁisro,\ ﬁuess No.

o To aQX- (\exjf \/a\w?,l g"r(\c\& ‘ml-ers(zcl%a(\ o§r #N;{@O‘L \?/\Q (si § ot a
with e x-axis.




o T\w:\‘r 1S, X, s e nuanbor such Hhad

Li(b(x\\ = O ‘ \/JL.QI‘Q L:}(D »s inear QF(];POX?(‘OOAB() OL;)‘ X
Prde ) 1 Py =o _ oy )
L B0 ) TONE X
TV hen Pad e next {go}(\q/ X, Yo be SN aombo~ such Ahot
IS ARSI
3 BEICH
= K= X, 3 (%)

Con htwe .. %wen %o Rnd

‘TL\Q S@,Zw@nca ><°)><\/ )(2/ s S\/\au\c\ convel‘ga lo oo Poo*\- ox —Q

M& uSQ NQ,\A)L@D’S \‘/\Q/—D‘\oc&, Yo Sind Yhe oot ogr +he Swmd{;@m

defined by FUh = 3t v 183 s 1isy —1seo

bedweon U ond S, with errer ok mest 108 )

EO_\_: Frest led’s ,?\OJr o am?\’\ (us;ﬁa aro\?'»\ma Sogrkwof‘e\

Y

@ﬁg: flvy = =272 ond  §(s) =1625
e >0

So Here 1S oL root \:)Q_,—\w@&(\ Y ond § <\0\/ TVTY

Now §'0x) = 12x% + 43 - 125
Sy Ng = L{

Yor w©eM, Set Xy = Xa - xﬂ(yh\

S‘I()én\ cAS‘m% calculador
T 30V # 05 (P — 175 () 31560
‘ YSICHEENTESICINEPEEN ~ 449956

Xz HoAR 7268



XogX U 087218711
Xy & 4187218710

\’\/_,___J
o ¥ &@c.{\'\a‘ ?chQS/ \"co'\‘ N C‘T(rm’LWLQ’KL/ ql(—%;zz .

b_xa

Com check Yhat  f(4.48324) >0 > $(4.18 723)

\A)\MC\(\ vert ‘}.@5 \—\r\qlr root vs  badweon

448724 and o4.18723

\,Jg, con oo uwse Nowhnt Mothed do oblain qwfmmY\qLe, go]wmkonglro
@ZM&L&«OOS.

Es_a_i QY?mXNY\O\\Q/ #“\»Q, SALASNO(\ o dhe 7w\lm/\ cos(xy =x L

oA- \o_q_§~\~ 8 dec: mal ‘?\acei .

Sol w kan Lol e frsk  examine. oo TCQ*\-UJ\Q, oF o Corvag

éQ(;MQ,& \:\/
\/ = Cos X snd \//:x. y =%
-T; —?\ﬂ d '\’\'\& ?D\ﬂjf \/—_'(105)(
o W0hersechion, we

Moy deSine o Tunchon
4

} — 5
#\:i_/x
17\
-S:AS

A esired So\uu\«bﬂ

£ = cosX) >
G 0d use NQwaOﬂ(i H&*\AA&A \es FONPA &\’GY a Poc\’\‘.

_ cose 7 F f
\[/coi‘ Lete Bt \oeso Xe =1 and
Cvaluate
%=_"—__'_,__\/ bl = cesl1) -1
-+

S T0.U%9497

(\.Jo,lu need oo Ca\c_m\a\o( X—or %—»\{sb

4'0 %er \'\'\@ J\Q}(&r o&?;?ro\;\\ma&db(\r
f(x) = —snlxy <4

Ownwte we i\r\é )Y‘\f\Q

X Xre—i“m) 4’\’@ T\QB(A/ Yerm 15
CDN\\?UL‘\QA \9\/

;(Ynx
Fleay

Kasa = Ao~

or

Yoy Cotlin) =Xn
S\\'\(Xfﬂ ¥y 4



NI Cotly) - %
- - = Y t 1 7°
one A = X (%) 510 (ye) + 1
pod 1+ QO(__S_»_L_i)_;L ~
Sl + 4 T
RRICA
= 0O.%3911790%
£ (x)
Xs = Xo T T, T O TRI0ES 133y
Xy = — O:-33908% 4332

O. 750363807 ¢

Now we've %c)‘\’ Fws c\??*‘o‘ﬂt\(\f\axﬂmg S\{\c\m\a o &:Wsjr e\ Jzaylrg

of e decwmal opansion, 5o We con sire\o akler

\{\J\\m N(L\;)Lmls MCL\‘\\aA

. j; S/ W eac \(\ A ?OT‘(\J’

Goes Wrong

where Y (va) =0

of) 1\/ H steps.

Proo Hhe donget b o dhe gragh ab ot puind
\ TNO\\\Q\ Lo hlhe K-axis ond  neves ?\/\-I-Q{\g&c_js’ con’+

»} ir(\é naxt xOo‘\(\*)' )
/\/ x .- Flvn)
¢ / ' N Kawn = n sj(%’\\
\/ ’ b <o dvigy
L by zew |
« TY's a'se Qoss;\alq o “weunce T oroond ol Vscal MIA dpn

\-NW‘U“ VS PNV Lonuu”ate on Ve oot

/

Q\saﬁ

Yhe
bor e 87uer\ce Yo A(Verﬁa, 1o ‘v(\gr‘m)l\/g

igf ((ZSI‘CL?\f\

o 3

Xliyo
Xy = X,
X\.’ - )(o
25 Yoo \\Yf\cé(” S

"13535\\\)[&



Ex_ conside FLO = %73

F‘f‘f\ S SN\ Yuese  cases, we PiQ\LgA o erwxm\a Qoi(\‘\' <,

_——

Voo Lo Fromn dhe L claal ook Choosmcaf oc wew X
Closer bo Mo coot will Six e ?m\o\ervp



§‘5¢o ‘be,l\l\/asfe\/eb ot T‘(\\/Q}‘SQ K—,_‘MC_L\.DOS

SLM?YOW’ we Wnew thad  F wes diflerentiable  ond waverdiblo &
SeWe ]Y\-\—ervqk I(

T y;“xj

{

T ]
E,VA/J )K
I

/Et Cara?\\ ob § reshvicted Yo T
s

Fcr exam?\g, TR xr\’\l @\,Awg Cx\le/ X’\r\e Rumglr‘xoﬂ IES i(\ver-\J\DQ/
o I LQ_\IQ('\ -Dﬂougém s 00‘\« ;(\\/%‘3(7\:‘% ON Q\\ a&\f W\\

. SKGC& £?S Caﬁ-\‘\r\u\bus/ ‘\'\'\Q rmag OR &1 s Speo, \W¥Qrvq\ 3,

° Therﬁ WS SowWe guﬁ(‘,)ﬁom 8 of ‘j— 'H\stf S '\“\'\Q/ MWVSS e @gr g‘ oN I

Yo ¥ s o
T Etétﬂ\ =X Sor ol xeT

o.0d %(Q(Xﬂ =% tor ol Xe g,
(1.% 3 s Yhe ypvese ¥ -?3

-« The 6,-&JV\'\ (,?ra 1S O\BAF‘O?N\Q,& S;“ON\ ’1\\vqrxn‘ﬂa “']'\“G—JJ\C-JF\\ O‘Q’Kﬂ
x\\m&\\ Yhe \ine y =%

.
4 ,
/
A
j (48}
U
L
A /
, V4
|

“Now, oF o 9snd 0 e, catsider
e pogent Jine b §ate,
whieh has shee §Go - Loty [
V=1l
Ry Yl (x-a)




- 5@“-\“\“ \o:,-c(a\ (So -\-\-\o*
3 (o) = au(oﬁ :6\\[ e

Mreror wwage ok Hhe ouzglhy|

s-v*'\ag‘&( fne 44§ ot a Letlo)

el us x'\'\e« '\-un e(\\‘
?he >\"D % 0\\/ \D(ng

O Whal s the sbee of o L
Pas vaverked  line? -

')-T, rB:\‘ CoNS: dor \/J\,\a.k e {>(>e’\s j N cm\o l‘\a\ \IN\Q
& ‘ ) ohe L= .
‘\’\v\wu&\\ Yhe y=¢ lae, / n ae&vs nverted

*’__T‘Q wa \(\WQ o \ia Y:W\% AN with S(Oiw/ wwe Qb'\‘az(\ Yhe lm@,

‘m\,u.lr@_& —\'\r\f-oua\/\ Yo Y =% line \D\/ Swa@mn? o % Md\/,

T\,w, countion cg' Yo N or WWMag e, Lrec&) Ime 5 -\rL\eJ‘eQar& y;my '}’b
1 b '

So\\m\a o Y. e olotarn S

\/:m><+b

~

p

)(:W\\/ 1Y ol \/: %ﬁx__l%\

Thas  +he slope of  tue  reflected e  vs ‘Lm

N, The 510?9 oL Yo rellocled Lo (Jve} Yo \106;9,04 Yae lo 6@ ot 1)3

[ ‘\—\A@ FQ/'COFQ/ /(\\ = ‘i—\ _ i"_‘ L ﬁnowakle as lo
8 9} 1‘:/(0\\ = .\:/(8(5\8 ‘ _r/(&\s#\ng“ al

Tn ?N—lr:cu\\arr W «C s ASQ&@(‘Q/\X\U.\Q\Q 4\\/»@_,\ T ?lvg ‘\(\VQJ\SQ,S,‘

We reco Mus  dswssion in the L\\Owl\‘\d Fheocom.

‘T’—}leor‘em (IhVErSQ —wne ‘Liof\ moremw

S%?YDSQ £ s inverkble a0 sewme ivderval T ith saverse $otachion

TH Fos dlerentable o} o eT and V@ #0 +hen g differen bials

ot &3:—?(0,)11\-3\'\'\\ C&en\/ah\/a_ Ven \g»i
g™ = Ty |




Tor oa ocbibrary Sunckon ¥ owe 4“/f*Prw“\/ dencle  ils inverse \0\/ §
Such gk

L7E)) =%

for allx whee § 15 deSined
ond X(-{:—'(x\\ =X

for al whee 7S defined

\Je. con AR ?m\;g *\Q OUerse. Su.nd«‘oh '\‘\'\QDY@,{V\ usl\(\a, Fao. Q\Aa‘rq cule
?’r_bg};} For ol % 30 the roﬂé}@ o-‘ 1\ Li-e. al\l ¥ whee 6 s des}{\e(;\ wWe LchVQ

' H%(x\\ =R

oond Ythus (Sx:"a\( x) = X Tu\ﬁ?ﬂa Hhe dervative ot Both s des

dlrpla) = 4«

e I
= eyl o
~ S;’[%Lx\ﬁ a'(X\

L

3= Tty . O

oN A hus

Nove dnad ob Pl =0 Hren  gis gob dflonddble ad 1 <Flay

T\r\ts s \)Q,Ca,wSQ_ .\~\'¥Q/ _\_Mam"' \i(\@— \'O C(‘j Cf\x' \D:SIG\ \u\\\ \’\&\/Q

Tiadiatte S‘.OFQ, "

For examp\@, Qor\s(clm’ Srk%\f' XS w e \Was TAVRTSE B(K\): X‘/g

/t

%-ona(@ﬁ \ine

o x=o has

Zeoro s\o?Q,

T\ﬁs Mmaltes  Sense -gr N -
o ou Rwan\-saq(\ N}L\QS os welll Yo 6[)(\: ><V3f we ha«/@,
’(X\ - = Xﬂl/}' ‘
J 3 I SR NCE

which s deSed every whae
T has g not &;S}-CGF@J\-\#CJ()[Q at X =0,



Eyomple }_“,_L&__lfa«__

Qﬂ 3 Nole Pt 0 PO = 0¥ 4+l La s wwese of §
J Y ———.J:_.‘ l [
ot L= @‘ )(X) - ?—’(f—"(xﬂ B Zn (%) = ;
’ )
o et = % |
Xo%m" NSD v J;(ﬂ: ay +heg S:I(\Q\ = /QOLCQ cx% o\mnl. /ao
(5 the  averse Qoa[&(;‘.(m\ - ﬁoﬁm(axs = 8
Thas Lo/ (XY= (7)o = “_J“‘—w
d EOf7 )
1
= Lolo) O\ﬁoaa(x\
< L SO S
Lola) X Lalay X
)
So | fog. (XD = o o
d Fole X de foge 00 = ok
§ Bi i beﬁ\m\xﬂ\ws OL -lﬂvaQ, "ng Ffm CA’«‘CS/)Q
N
Le\g fregd

evomine  Siabx) . Nole $hd sta 35 col nverdible
oN\ c&“ of Ww) &auﬂ’ we& Con -Qm(l,
o0\ }F\LQ,:\VOV\ I

oNn uJ\\:Q\": NETY
B 3(\\/@4\\0\&,

T
~TC
7

T4 e Voo L= [‘——’{ ']TX

on s inteval  sin s wwwerlble

b& A-né \ms o NS \,J\usse aj\%k«\ V80
k_' \l"—"Si‘(\

qiA
p t\— V= acesin (X\
t

and leoks il i




\MQ‘LQ‘. For cach XQ['i, .13 thore s Q,XCLQ‘H\/ ohe yé[“’%—f—_nz—}

suchthat 5!0(7\ =X @I\L we wrle M

5p o-rcsin \hus c&omu‘rﬁ E”i,l] ond o {%:/“’LINZ,

On K'l,i\/ w\\fhxr [} arcsia’
S0 loresin()) = %

-j;{)z S?ﬂ(o\r('.s;ﬁ(x)y& o ;;dvﬂ X

1

S (oresinha)) aresin’(xy = 4
=> co§ (orcswﬂv(\\) aresip’ () = 1

1
CoS ( oTCSin Kv(\\)

—

=) orcsmn’ () =

COJ\ we STM‘F\EQK/ cosloresaly)) 7

E) (- a;w“/@ﬁ X, let e = O—""-S"(’(XB. We con  draw Mre Correspon c[.‘ng
(\\la\‘\:\/ Aot ou\a\Q, : i
X So thal stmne = X

end cos O~ =
I JIox*
r ':‘>C05<04‘C 5\‘0(X\x—_j
T\\us E A 1-x

cos 1S inverkble o LD, T, and has  tewese on bhic ynderual
.7

T
:/,J \J,:a>57\ k } Y:arccos(xﬁ
s T )
\? S ‘,

k’w,‘_n/,, ‘__i,\\ N "i _i

Oa (-4, A) borceos s SiMlerenoldle Y

o (artcOs (DY = %



?—\F cos(ortens DY = é& X

A

-5 ‘xﬁ(mCOS(%\ orccos (XY = 4
A
sm (wcwg&sa\\

Now led ©O = orcCos ng N

So that cesl®) =% A \ox?
ond  sin(©) = m 2 A

:3> [arcwg'(?&\) e 1

S qeess () = -

-

VioxT

On (Jj —%\—\ Yan is ievekble avnd has anverse

A
N \ ~
; ty;*wb(\’ P
7:0—1‘&“\’0{)(\(3
B v &
50 OvF‘CXMW S AIQ—R-QFQDA—\CL\OLQ' ISVAN \R wllr\(\
+0~ﬁ(CM‘CX’O~DQK\\ = X
= é’%\‘kmtm%(ﬁ\x = %}k X
1
= ¥m’(wC¥mLX\3m¥m’(x\ = 4
1‘ N ce '\'Oﬂ,(\): cﬂ‘(
= for () = : (5* /)= Secly)
‘> O en \Secl(orgxrm(x\\i >

= cos (erchon ()

Now la¥ 6 = orc X o0 b(\
J 1+
So Phat om0\ =Y y

ond cos(®BY =

\-\—Xl 1
\
S0 c;.r(:\tcxn'(x\ = ﬂ_+><l




g%arﬁe\qbl Slf\c_i g’ 1
Sikﬁ\ = orcton (e )

-

. d \
—S-’b\\ = arc-\-o\m/(65|nx) J}a[@sm K]
- hih SERRIRS
Lalsinx)t S ces
AR

= Cosx e
1 4 QZSIY—\ X

—

b0 L (redon « )

—

$7 0 = &ﬁ’(wc%ﬁ(ﬁﬂ orcYon (%)
L L
- Mc—\-m(x\ L+ w2

s ikx\: oecsinl) & orccos [ &\

gj (R = orcsiolyy + ewccos’ (¥
L 1

d—

—

So oxcs\nb@ + O\!\QCOS('X\ = M (wM?-L 'S Jagmeé)



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18

